| Efficiency vs Dxy |
>0.05
X

5 S
N0 e S S S
< A T T
R e
Q A T T
D035t ﬁ """" e

eff

0.03 ; e et : .
0025

0.02f bbb e
QOIS

X0 e e o e e
e T e

1.

Ratio

| U
g : : : :

=
!

098 56-15-10 =5 05 10 15 20 25

TP dxy (cm)

—=— DQM_TT__CKF_ORIG
[Efficiency vs Dz | |—s— DQM_TT__CKFandPLess_ORIG

—+— DQM_TT__ CKFandPLess_MODIF
N 0.2 : : : .

9,018
> T : : : : :
0B
(&] - . . . . N
E0.14 o Frrereree frorereeeee F R A
o : : : : :
|| s s
IS SRS N | S

0.08}

0.06}

0.04}

0.02F

30 20 <10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


